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Q2.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Ques Working Answer | Mark Notes
X3 (=9m=2827.) or 3 |MI A -correct calculation for
Zx(3+2) (225w =T8.53.) the area of one of the circles
7x5 —7x3 oeeglom MI A correct calculation for the

shaded arca
503 Al 502-503

Total 3 marks
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Answer

Mark

Notes

orsin45

M1

Start of method to find
radius or diameter of circle

or d=
cosd5

Teos 45 or

MI

complete method fo find
radius or diameter

or?

(if method to find radius or
diameter shown then allow
use of radius = 5 for
method marks only)

eg w %457 (=76969.)

M1

For method fo find area of
circle or semi-circle or
quarter circle — use of
radius from correct
working

ML

For complete method

Al

279-28

Total 5 ma
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Question|  Working | Answer | Mark Notes
32x32(=1029) M1 Area of square.
nx 5 (=785..) M1 Areaof circle, accept awrt 78.5 —78.6 incl.
14 or better}
32 x32 M1 Intention to subtract areas from correct methods
683 4 Al Accept awrt 68.3 or 68.4

Total 4 marks
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Working |Answer | Mark| Notes
nx 2.5 (=19.6..) or 13.8 % 7.6 (=104.88) M1
138x76-nx25 M1 correct method
852 | 3 | Al for answerinrange 8585

Total 3 marks





image9.jpeg
Question Working Answer | Mark Notes
7% 3% (=9m) (= 28.27..) MI rounded or truncated to 3
or more sig figs
M1
M1 dep on M2
183| 4 | Al for answerin range

183184

Total 4 marks
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Ques Working Answer | Mark Notes
a 7x1500¢ 2 |MI
471 Alawrt 471
b 30 < 60 (=1800) or 3 [ M1
MI dep
0262 Al for 0.26 — 0.262 or ft from ()
3 Radius= x—h or 2 M1
D
Z=x-hoe
2
D
h=x-"oc
2

Total 7 marks





image11.jpeg
Working

Answer

Mark

Notes

<76

ML e 2O
P

AT foranswer which
rounds to 23.9

Total 2 marks
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Ques | Workin; Answer | Mark Nates
a M1
mx250e0r2xmx
785 2 [ Al[785-786
b 47 70 MI | or for digits 188
10%="= oe or 10x-——oe
25 250
188 2 | Al [accept 19i£18.8 seen
Total 4 marks
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Question Working Answer Notes
7% Q0-2d)oe or 7% 12oc ar MI for a correct method to
et or find the circumference
376..0r 3770 or balf of the

circumference
gxnx(zo—zw)oe or Lizxizoe
or 746 or 188 N
) N R M (dep on previous M1)
4510520410+ 4+ 20376 ar for romaete method
4+10420+10+4+7188
[ Al 668669

Total 3 marks
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‘Working

Answer

Mark

Notes

%10.4x18xcosL or
08.16+ 324 — 374.4 cosL

~0217(796...))

825(837...))

3536

and M=343(264...)

M1

Correct substitution info
cosine rule to find L
or

1812610,

For cosM =
oe AND
SinL

it e
orcosL =
To4x18

cosL= 0.73(0235..) o or L =
43.0938..)

Al

Rearranging cosine rule
correctly

Accept L =43°

Accept 43.0(938..)
rounded or truncated fo at
least 3 SE

"43.0(938.

(Area of sector =)
360

104 or 40.6(752..)

MI

Dep on at least M1
Accept 40.5-40.7

Bl

For (area of triangl
63.9(471...)
Accept 63.8— 64.0

Al

Accept232-233

Total 5 marks
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Question

‘Working

Answer Mark Notes
30% 20 or 600 4 |MI Forarea of rectangle
7 X 82 or 201.(0619298..) or 647 M1 Indep for area of circle
egm X 8% or
201.(0619298..) or
647
30x20 - mx8 M1
399 Al Accept 398 3991

Total 4 marks





image16.jpeg
‘Question ‘Working Answer Mark

(OF=)12+16-2%12%16% 5
cos(60°)

208 or 4\f30r 144 or
05 12 16 % (609 (= 831_or MI f their 144 provided
483 Yor first M1 awarded.
38 e ancia g (=689
360
or
38 rx208" (=689.)
360
05 % 12 16 % (609 + MIfi their 144 provided
38 x"1447144" first M1 awarded.
360
(689..+83.1..)

152 Al awrt 152

Total 5 marks





image17.jpeg
‘Working Answer | Mark Notes
2xmx7(=43982.__or 14m) 3 |MI for finding the circumference of
or 2 xxx7)=2(=21.991.... or Tx) cither the full circle or the length
or2x 7% 9 (= 56.548... or 187) of the arc for cither semicicle
or 2 x 7% 9)=2 (=28274.... or 97)

1991" + 282747 (=50.26...) MI for a method to find the length of
T+ "9 (=167) the two ares with intention to add
28.274"+2 (=52.26...)
+2(=5226..)
21.991" + “28.274" +2+2
Ta+ 9"+ 2+ 2
543 AT accept 542-543

Total 3 marks
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Question ‘Working Answer Notes
7 (10-2 = 13) or 7 < 40 MI oe
(=125(6..))
4515 (=60) and 4 x 70 M independent
(=280) or 340
“125.6.. + 60" + 280" MIdepon M2
466 AT for answer in range 465.6 — 466

Total 4 marks





image19.jpeg
Working Answer | Mark Notes

7% 8.5% (=226.98...) MI | A correct method
4 to find the area of
(area of trapezium =) (20 M1 | the circle
+25)+2xh oe Use of correct
formula for

(=22.5h) M1 | trapezium
7x8.52+22 10.1 Al | A correct method

to find

Total 4 marks
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Question Answer | Mark Notes
420835.) M1 orx 36.62 7 2
(=2104.17..)
M1
Boacexon 4 M1 dep on both previous
L 10400 method marks
“4208.35.." + “6222"

=10430.35..)

A1 awrt 10400
(accept correct answers
given in an alternative
form eg. 1.04 X 104 ; 104
x 102)

SC: B2 for an awrt 7320

Total 4 marks
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Question | Working | Answer | Mark Notes
(@) [15xmor 2 M1
2%
(1.5+2)
471 A1471-472
(b) [ 1000+ ML ft from (a)
w471+ (accept use of rounded
2 answer from (a) for
‘method mark only)
212 Al ft from (a) provided

working is shown (must
round down to integer
value)

Total 4 marks
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Working Answer | Mark Notes
32 % 17 or 544 or 3 M1
748” oe or 200.9 — 201.602
3217 - a8 MI dep
for the complete. correct method
343 Al for awrt 343

Total 3 marks





